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Homework (CPM-4)

Table on below gives the activities of a project, their predecessor(s), durations and costs.

a) Draw the network for the project.

b) Determine the critical path. _

¢) Construct the Time Schedule.—>> £ /L
d) Obtain programs with minimum costs.

— Durations Costs

Act1v1tle§ Predecessor(s) Normal | Crashed | Normal | Crashed
= s 3 3 100 150 25
= — 2 2 180 200 | 40
= — 6 3 170 20 | 40O
T < 7 5 200 2600 | 30
E B,C 4 4 - 120 120 | —
F B,C 7 7 | 150 150 | —
= = 5 3 180 | 250 | 35
= D.F 3 6 200 300 | o
: EG 9 6 100 160 | 20
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